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C. Post-project evaluation
D. PERT

Correct Answer: A
Explanation:
Kim Heldman, CompTIA Project+ Study Guide, 2nd Edition, Sybex, Indianapolis, 2017, p. 332

QUESTION 116
A project manager is trying to explain to a stakeholder why projects are progressively elaborated
upon. Which of the following is the BEST explanation?

A. In the beginning, projects entail a degree of uncertainty that needs to be specified.
B. In the beginning, projects have start and finish dates that require elaboration.

C. Inthe beginning, projects are part of a program that requires coordination.

D. In the beginning, projects start with detailed inputs that need to be explained.

Correct Answer: A

QUESTION 117
A project manager has noticed poor attendance as status meetings. Which of the following
strategies should the project manager use to improve attendance? (Choose two.)

Provide an agenda before the status meeting.

Adhere to an agenda and scheduled time.

Add non-project-related items to the agenda.

Add and discuss new agenda items throughout the meeting.
Discard the action items at the conclusion of the meeting.

moowy

Correct Answer: AB

QUESTION 118
A new project charter is being drafted. Which of the following would be the BEST source for the
high-level project requirements?

A. Sponsor

B. Project manager

C. Project management office
D. Project team

Correct Answer: A
Explanation:
Kim Heldman, CompTIA Project+ Study Guide, 2nd Edition, Sybex, Indianapolis, 2017, p. 108

QUESTION 119
When an action is taken on a risk, which of the following is being done and which document
needs to be updated?

Mitigating risk, and the risk register should be updated
Accepting risk, and the risk review document should be updated
Avoiding risk, and the risk review document should be updated
Exploiting risk, and the risk register should be updated.
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Correct Answer: A

QUESTION 120
Which of the following activity sequencing techniques uses nodes to symbolize the dependencies
of each activity?

A. Critical Path Method

B. Critical Chain Method

C. Arrow Diagramming Method
D. Gantt Chart Method

Correct Answer: C

QUESTION 121

The business stakeholder has been engaged late and has just had a chance to review the
approved requirements. Consequently, it has been identified that there are a number of gaps in
the requirements which are critical to the stakeholders's business unit. Which of the following
actions should the project manager take?

A. Initiate change control.

B. Follow communications plan.
C. Manage project quality.

D. Prepare a performance report.

Correct Answer: A

QUESTION 122

A part that is needed to complete Task 3 has been backordered and will arrive three days later
than scheduled. Task 3 must be complete for Task 4 to start. There is one day of float for the two
tasks. Which of the following represents the number of days the project schedule will be delayed?

A. Zero
B. One
C. Two
D. Three

Correct Answer: D

QUESTION 123
Which of the following defines the minimum level of engagement of a stakeholder?

A. Passive

B. Invested

C. Contributing
D. Interested

Correct Answer: A

QUESTION 124
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A minor change to the baseline schedule is required. This change will be the second minor
modification to the schedule. Which of the following is the appropriate version number?

A. 03
B. 1.2
C. 20
D. 3.0

Correct Answer: B

QUESTION 125

A change must be made to a project to comply with municipal code. The project manager
updates the relevant shared project documents. The key stakeholders subsequently update the
documents with new information. When the project deliverables are reinspected, they fail the
inspection. Which of the following is the MOST likely reason for the failed inspection?

A. There were insufficient resources assigned to the task.
B. The prior document version was not reviewed.

C. Version control processes were not applied.

D. The CCB was not contacted.

Correct Answer: C

QUESTION 126

A project manager has received a change order that will reduce a project's timeline and budget.
However, the change order also indicates the goals and deliverables of the project must remain
unchanged. Which of the following is the MOST logical impact to the project?

A. The reduced timeline will impact the quality of the deliverables because the amount of time to test
will be reduced.

B. The reduced budget will result in reduced resources, which will lead to a strong matrix
organizational structure being used.

C. The reduced timeline will decrease risk, resulting in an increased contingency reserve.

D. The reduced budget will cause the project manager to reject the change order.

Correct Answer: B

QUESTION 127

A project manager is assigned to a project and has not had a handover meeting with the previous
project manager. The new project manager is reviewing the percent of project completion,
schedule progress, and budget constraints. Which of the following documents should the project
manager use to obtain this information?

A. Project schedule

B. Balanced scorecard
C. Issuelog

D. Status report

Correct Answer: D
Explanation:
Kim Heldman, CompTIA Project+ Study Guide, 2nd Edition, Sybex, Indianapolis, 2017, p. 328
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QUESTION 128
A carpenter on a project team reports there is insufficient time to accomplish tasks on schedule.
Which of the following is the FIRST step the project manager should take?

A. Assess the risk register's new items.
B. Review the task start and finish dates.
C. Obtain additional resources.

D. Analyze the assigned hours.

Correct Answer: A

QUESTION 129
A company is hired to perform some of another organization's work. Which of the following types
of organizational change is described?

A. Outsourcing

B. Business process change
C. Shared resources

D. Split

Correct Answer: A
Explanation:
Kim Heldman, CompTIA Project+ Study Guide, 2nd Edition, Sybex, Indianapolis, 2017, p. 297

QUESTION 130

A critical stakeholder has requested additional status updated beyond the schedule. Which of the
following factors MOST likely needs to be accounted for when communicating with this
stakeholder?

A. Confidentiality

B. Criticality

C. Frequency

D. Cultural differences

Correct Answer: C
Explanation:
Kim Heldman, CompTIA Project+ Study Guide, 2nd Edition, Sybex, Indianapolis, 2017, p. 265

QUESTION 131
A project team has finished creating a WBS and started developing a schedule. The team should
FIRST determine the:

A. durations.
B. tasks.

C. critical path.
D. resources.

Correct Answer: B

QUESTION 132

PK0-004 Exam Dumps PK0-004 PDF Dumps PKO0-004 VCE Dumps PK0-004 Q&As
https://www.ensurepass.com/PK0-004.html



http://www.ensurepass.com/PK0-004.html
http://www.ensurepass.com/PK0-004.html
http://www.ensurepass.com/PK0-004.html

Download Full Version PK0-004 Exam Dumps(Updated in Feb/2023)

A project manager is mapping qualifications and available personnel to the project requirements.
Which of the following activities is the project manager completing?

A. Team Building

B. Team Selection
C. Resource loading
D. Resource leveling

Correct Answer: A

QUESTION 133
A project manager procures additional resources from a local company. Which of the following-
describes this event?

A. Reorganizing
B. Onboarding
C. Offshoring

D. Outsourcing

Correct Answer: A

QUESTION 134

A project manager is trying to ensure the quality of the design and reduce the number of potential
defects. The project manager would like to use the fishbone diagram to perform this analysis.
This type of modeling relies on:

A. Prioritizing the specific event.

B. Variance in the process over time.
C. Causes of a specific event.

D. Determining the number of events.

Correct Answer: C

QUESTION 135
A customer has requested additional features for an active project. Which of the following steps
should take place NEXT?

A. Implement the requested changes.

B. Evaluate the impact of the changes.

C. Update all project documents.

D. Submit the requested changes to the CCB.

Correct Answer: B
Explanation:
Kim Heldman, CompTIA Project+ Study Guide, 2nd Edition, Sybex, Indianapolis, 2017, p. 293

QUESTION 136
Which of the following is a reason for assessing risk in a project?

A. To identify new tasks
B. To shorten the project timeline
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